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A water tank initially contains 125.752 gallons of water. If an additional 88.259

gallons of water are added, what is the total capacity of water in the tank

now?

In the !rst week of the month, a city received 13.505 inches of rain. In the

second week, it received an additional 12.754 inches. What was the total

precipitation for the two weeks?

A baseball player had a batting average of 0.325 in the !rst game of the

season. In the second game, he improved his batting average by 0.120.

What is his total batting average after the second game?
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